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KENYA PRIMARY SCHOO!. EDUCATION ASSESSMENT (KPSEA)
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MATHEMATICS

. Tme: IHR 20 minutes

1 Usean erdmary pencxl mly

2. Makesmﬁut)whmwnﬁenmﬂwemsheu SRS ¥ S .

, (i) YOURNUMBER (")YOURNAME (i) NAME OF YOUR SCHOOL
3. 'When you have chosen your answer, mark it on the ANSWER SHEET, not in this question booklet.

' 1.~ The number of ~le‘arners who joined | 5. During a tree planting daj?,'Grade*G

= Secondary School in the year 2024 was - learners planted 96369 trees in a school
496,271. What is the place value of d1g1t . farm. Write the number of trees planted;
4 inthe number? | | inwords. :
A. Thousands \  A. Nine million, six hundredthousand -
B. Tens of thousands- | ~ three hundred.and sixty nine.”
C. Hundreds of thousands sl B. Nine hundred and s1xty three
D: Hundreds = : “ . thousand and sixty nine
. R %+ C. Ninety six thousand three hundred 4
2. What is the next number in the sequence 1 and ninety six -
below?_ - , e D. Ninety six thousand, three hundred" ,
1700, 3400,5100 | and sixty nine e
A. 6400 o ‘ | Ll
B. 6800 ’ 6. ' During the " Deputy Presidents
o ](; g ggg i : . . | ~ inagurations, there were 625 men and -
A b o ; - 486 women. Whatwasthetotalnmnber 7
3.  Usedigits 5, 7,3, 9and 0 to form the | of people who attended the i inaguration :
, rounded off to the nearest thousands‘?, :
- smallest number possible : ~
: : A. 1111
A. 30579 B. 1,100
B. 03579 ' :
C. 35790 o €. 1,000
o D. 1,110

D. 35()79
4. Three bells ring at‘mte‘rvals of 12 “ 7. | In a forest there are 86486 trees Out
seconds, 18 seconds and 24 seconds.

 If they rang together, how long will others had been planted. How many"@};.

they take to ring again together? ‘ ~ trees had been planted?
A. 72 seconds A. 111117

B. 54 seconds , B. 60117

C. 36 seconds C. 61855

D.

108 seconds o = L D 6’1‘805,

~ of these 24631 were natural whlle the . |



2025

8. ~ Multiply 761 x 13 , 13. Which is the next nux}zbezin_the pattern
A. 9893 16,20, 24, ‘ ?
B. 21183 A 26 L
c. 774 ~ B.30
D. 9891 C. 28
. D.32
9.  Worl out: 1168 + 12= “ B
' A 13 o 14.  Which of the following is not 2 source
B. 182 | ' of'COunt‘y' govérnnient moncy? 3
C. 154 A. Busmesspermxt
D. 14 B. Packing |
i e : | _C. Land rate
10. A shokeeper bought 18.4kg of rice on D. Corruption
Monday. He bought 9.8kg of rice on E » : RCEKRRE
TueSdayéﬁd then sold 22.84kg on | 15. Simplify the ﬁfactiont0~it;s simplest form -
Vednesday. How many kxlograms of %/ 8 e - g
rice remained ? ?
A. 5.44kg Ay,
B. 51.04kg_ '
C. 42kg B. ¥,
D. 5.36kg
E . L c
11. What is the greatest number that can
divide 27 and 367 | . D. ¥,
A3 |
B. 9 | 16. " Convert 75kg ZSOg into grams
C. 32 ’V A. 75250g
D. 20 ' B. 7525g
| - C. 7250g
12. thch one the followmg numbers is D. 725g ‘
dzvxslble by 2, 5 and 10? |
A. 250
B. 235
C. 222
D. 525




17.

18.

19.

‘20.‘

Convert 8 minutes 15seconds into
seconds .

A. 850 seconds

490 seconds

480 seconds

495 seconds

v ow

Multiply: :

24 litres 250ml by 3.
A. 73 litres * 750ml
B. 71 litres 650ml
C. 72 litres  750ml
D. 72 litres 75ml

Order the following fractlons in

descending order 4
s s Y Y,

A;Z/ UL,

B Yo Uy Ty

= C 7/9, ‘5/9’ 4/9,; g/g-

a2 s) 1y
D? Ly i /9’«1 /s

Fitid the area of the rectangle’sbelow.
15¢m

J10cm

A. 150cm?

B. 25cm
B. 50cm_
D. 1500cm?

I 21.

22.

23.

; 24, L

- C. 9 minutes -
- D. 10 minutes 62 seconds -

'A. 22km

- C. 21km

A5
S Co15

Work out:
Min Sec
5 42
+ 4 .20

A. 10 minutes 2 seconds
B. 9 minutes 62 seconds
2 seconds

Work out:

60m
1100m
260m
260m' o

B. 21km
D. 22km
Fmd the value ofyin 15 X y 75

B.3 -
D2

Work out' the volume of the ﬁg“f ebeiow ~

3cm; AR I

3cm

10cm
A. 900cm? "B. 90cm® :
C. 9cm? D. 30cm®




25. Identify the vertical line in the diagram
y

F

I

A. LineFG
B. Line EF
C. Line ZH

~ D. LineHG

26. A square garden has a length of 40m.
Find its area.
A. 400m? . .~
3. 1600m> . g
C. 160m* - -~
D., 4000cm? i

27. Whichﬂ‘of the following diagfams shows ,

perpendicular lines?

28.  Write down the first four multiples of

six

A. 1,23,6

B. 6,12,18,24
C. 12,18,24,36
D. 6, 15, 18, 21

| 29. What is the place value of dldglt 5in

- 9.5327°

 A. Hundreds
B. Tenths

- C. Hundredths
D. Thousandths

30. Usec the table to ansWerﬁhe questions.

Shoe _Tally = | No.of
~ Size . Mark | People
< I 11 | I

, TITRTITNY

3 (MTTmmrl) e

4 7

5 H 9

T

How many people wear Shoe No 6‘7
A 9

B. 13

C. 10

D. 12
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ENGLISH

1. Usemordimqrpmﬂ only
2.7 Makesureﬁmtyonbavewnttenontheanswershed

() YOURNUMBER"

"()YOURNAME (iii) NAME OF YOUR SCHOOL

3. Wben you have Qhosen your answsr, mark it on the ANSWER SHEET, not in this question boakfef SR

.fayden

Mrs. Nzuki

Jayden B S

Mrs. Nzuki

Jayden

internet?

"

Ok no' In mean, all you need is to plan your time well. That means
- more time on your studles and hardwork R i

- Read the dialogue below and anwer g’ uestions I - 5;
Excuse me Mrs;.'Nzuki‘ How can I improve my performance?

You need to study hard and reduce txme spcnt on tetevxsmn and

B have always wanwd to be a doctor when I grow up | g

LY. Y4

Does that mean. I stop playing games on my table completely‘7 = S

pideg oafiin oy

‘Mrs. Nzuki =~ :  Youcan be anythmg yo&want to bc m hfe If you beheve and work hl T
Jayden ’ o Theny I promise to work bard. -~ R
From the dlalogue which médern dev1ce - B. improving performance is impossible .
does Jayden own? ; o Gl Planmhg time and workmg is always
A. Telev1smn ~B. Smartphone | -t good - oo R R
§ C. A laptop D. Atablet - D. Watchmg telev:smn is wrong R T
2. Whatshows that Jayden is thmkmg about 4. To improve his perfonnancc, J ayden
his future? L AL prom;sed to work hard e
‘A. He made use of i mternet , ~B. Believed he could do anythmg .
B. He wanted to become a doctor " C. Stopped playing games. completely Lo
C. He used toplay many games ~ D. Stopped planning his time well. O
* D. He spent time watching television = | 5° Which polite words dxd/,Iayde,n,}use?_. g
3. According to Mrs. Nzukx : © A Playing . B. Ipromise = N
A. too much time on TV is wrong C. Excuseme = D. Iimprove -



Read the passage below ggd thgg answer questions 6 - 10;

One day as the sun’was going down, some very big birds were commg out of the
bushes. They were swans. The little duck was thinking ihat they were the most beautiful birds

on earth. They were the whitest birds and had long beautiful necks Thexr talk Was Vety dxffereﬂt

to that of the ducks.

They opened their wings and their big bodies lifted from the water into the air. Before -+«
long, they were up in the sky. On their way to warm lands and open waters The littie duck did -
not understand his feelings as he turned to watch them fly away. A sadness filled himssthey -
were leavi, ~. He cried out to them and the sound he made surpnsed hlm because :t ‘was the -

first time he had made it.

He was not able to stop thinking about those beautiful bu'ds but ina short tnne hehad

other problems to think about.

6.  The bird" mentioned intt - story were | 9.  The duck ran away through the
A. white birds  B. big birds A. door
C. swans D. ducks and swans B. roof
7.  Which birds were able to fly? : 'C. window
A. Ugly birds B. Duck birds - D. crack
C. None D. White birds .
8. ' Vhydid the mankick theice? | 10. The plural of the wordch_l_g is
A. To play with it ; A. duckies o
B. To take to the house -}  B. ducks
C. He wanted to turn it to water " C. ducksis
D. He had seen a duck o | : ;D duckest

Read the Qassage below and answer questons 11-1 5:

Long ago, in India, a pair of crows nested in a hollow tree at the bottom of Whlch hved a

fierce snake. The snake used to eat the young birds as soon as they were hatched.

“Oh, dear how can we stosp this horrid snake from eating our chilldren?’ Said mother

crow one day.

“We must get rid of him, my dear,” rephed F ather crow.” But that is 1mpossxble,” said

Mrs. Crow.
“You know very well that he is much stronger than we are.”
“Don’t worry my dear, answered her husband. “Just leave everythmg to me.”
. The following day, The King’s son came down to a nearby river to swim. No:sooner had
he entered than the father crow seized the lovely golden anklet which the priiwe had taken off.
He dropped it inside the hollow tree where they had their nest.

While dressing, the prince noticed his precious anklet was missing’ and ordered his
servants to search everywhere for it. after sometxme, the mlssmg anklet was found m the»’ o

hoilow tree.

. The servants also found the cruel snake and kllled it, and so the crows were able to' brmg &
up their next family in peace. This story teaches us that skill w111 often make up for lack.of

strength.

S




11,

1

13.

Accordmg to the passage who came

down the river the next day?
A. Father crow
B. Mother crow

'C. The king and his son

D. The prince

Why did the prince go to the rlver?
A. He wanted to swim

B. He wanted to kill the cruel snak_e
C. He wanted to drink water®
D. He was looking for his anklet-
When the ng s son realised that his
anklet was missing, he

A. Started looking for it verywhere
B. Asked the crow to bring it to him

C. Or dered his servants to search for
it. .
D. He found it unmedlately

| 14. Who found the mxssmg plece of

~ jewellery?
A, The prince B The crow

C. The snake D. The servant =

15. What did the crow do while the King’s
son was swimming? ,
A. He found the carmel snake and killed

it.
B. He 1nformed the servants where the
: anklet was. L
C. He hid the anklet

D. He returned gold anklet to 1ts owner

| Read the passage below It contains

_blank spaces numbered 16 - 20. Far each blank, i

sSpace select the best alternative from the choices given to fill the blank sp aces; ..

of biocides and they can ___ 18

There 16 many different 17
used for many different 19 _. Insects are killed__. 20 insecticides.
16. A.is = B.was @ - C. were o D. are
'17. A.kind ’ B. makes C. kinds D. types
18. A. be ' B.. bee C. being - D. always
19. A..things - B. purposes C. purpose , D. reason
20. A. and B.in C. with D. by

For questions 21 - 25, fill in the blank
spaces with the correct choice;

T~

-~ «f

22.

23.

24,

25

Food is to hunger, as water is to
A. thirsty B. drink -

C. thirst .D. swallow

None of the boys | finished
the work - :

A. have - B. have been
C. has ; D. had

of the two balls i is better'?
‘A Which  B. When
C. What ' D. Where

did the mother go after
~ the meetmg? Sl
~A. What © . B. Wherew [ s S
C. Which D. When.

.- Jenifferisthe . __ofallthegirls |

in our class. :
A. taller ‘ B. tallest
C. tall - D. most tallest

For. guestwn 26 - 27; wnte the oggasitg ot_ :

he underlined words;

26. Njeriis a beautiful girl.

A. ugly B. poor

C. hungry = 'D. handsome
27. Iam annoved by his behaviour.

A. amazed " B. worried
. C. happy D. surprised -
28. Ihave been waiting for you_

morning. . '

A. since - B until

C. For D. till

For questions 29—30, choose the correct L

word which mean the SAME as the :

underlined ones. i
29. John Mambo is a Very ugngh;’man in

our village.
A. poor = B. dlshonest
C. ordinary D. henest

30. The inhabitants of Mombasa are veryv
friendly. L ~
A. tourists - B. v1s1tors
C. residents - . D. workers . .




Write an interesting composition én;
“HOLIDAY CELEBRATIONS,”




- GREDI YA SITA
J ARIBIO LA MTIHAN I
KISWAHILI LUGHA

MUDA: Saa 1 Dakika 40 .

s .
Jlna ......‘.Q...‘.l...'...............I‘.‘I..OC..ll'...‘....'.....'l.0.'ll.......‘.0...'O.'..I...Q’l...l...

Jlna la Shule .Q.O.'......I.l‘..lI'..;.........OC...ll....‘.......l........0"‘-..‘....C.'..’f’....."ll...

VIWAN GO VYA KUZIN GATIA KATIKA KUTATHMINI

KUZIDI v KUFIKIA KUKARIBIA MBALI NA
: MATARAJIO | MATARAJIO | MATARAJIO ___MATARAJIO
L 41-90 __25- 40 ol 18-24 | 0-12

Soma mazunqumzo v afyatayo kisha u jibu maswali 1- 5

Amlna : Sabalkheri Juma :
Juma : Sabalkheri Amina. Sikujua kuwa nitakupata huku ) ‘ '
»/&nmafbﬂ-luku akttabasamu) Nlmefuram kukuona pial Nilikuja na famlha yangu katlka haﬂa hii ya
o shule. Na wewe je?
Juma : Pia mimi numeku;a na wazazi wangu. Wamefurahia sana kwav:le ni mara yao ya kwanza e
+ kuhudhuria hafla kama hii. . T : L :
Amina : Hata mimil Unafurahia shughuli gani zaidi hapa?
Juma : Michezo ya nje. Nimecheza kadanda na kuruka kwenye mzunguko ule. Na wewe'? ,
Amina : Mimi hupenda sana kuchora na kusoma vitabu vya hadithi. Nimefurahia kupata nafas1
-, ndani ya chumba kile. , o
Juma :Aha! Yaonekana umefurahia sana.
Amina : Utafanya nini baada ya hafla hii kumahz:ka?
Juma : Nitapumzika nyumbani. Na wewe?
Amina : Nitacheza kidogo na ndugu zangu
Juma : Haya basi. Furahia siku yako na uwasalimu wazazi
f\, Amina : Asante Kwahen

1. Unaﬁkln mazung,umzo haya yalitokea katika majira ya :- - o e
- Adjioni . _ B. alasiri C.asubuhi =~ D.\‘usj_kyg‘

2. Siukweli kusema kuwa:-
A. Juma hupenda kuchora
B. Amina na Juma wamefurahia
C. Juma na Amina wameletwa nawazaziwao .
- D. Amina na Juma wana mdhamu katika kuwasiliana

3. Kulmgana na mazungumzo Amma atafanya nini baada ya hafla?

.. AcAtapumzika ‘B. Atachora na kusoma vitabu ’ 7
e C Atacheza na ndugu zake : D. Atasaidia katika kufanya_kaz: za nyumbani =
4 - Mazungumzo haya yanatokea wapi? . o -
»A Nyumbam B Barabaram : o 'C.Uwanjani - D: Shuleni -
5. Neno tabasamu hrnetumnka kattka krfungu Kinyume chake ni :- i
A furah;a‘ - B. kasirika , C.nuna - .. D.lia

PACEMAKER SERIES 0022025 . GREDIYASITA  KISWAHILI LUGHA
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Soma klf_ungu klfuatacho kisha unbu maswall 6 - 15

Hapo zamani za kale katika msitu wa Kijani, kulikuwa na mbweha | ahyekuwa akrjlgamba kﬂa ‘
marajuuya kasz yake hasa akikimbia. Aliwadhihaki wanyama waliotembea taratibu . Klla akpowaona .

alicheka akisema, “Kwa kasi yangu kama mshale, hakuna anayeniweza hapa msitunil® =~ - -

- Kinyonga aliwaza na kuapa kumfundisha mbweha funzo. Siku moja alimwambia, "Mbweha
si klla chenye mbio kina nguvu ya ushmd: Ngo;a tuone ni nani atakayef ika mtoni kwanza tukishindana
leo mchana,” ,

" Mbweha ahcheka kwa dharau akulona bora, akisema, "Wewe’? Kmyonga mdogo kama unyoyal
' Ustote ndoto za mchana.” Wanyama wote walikusanyika kuona mbio hizo wakionekana kuwa na kiu

cha kumshangilia mshindi. Mbio zilipoanza, mbweha aliruka kwa kasi-na kumuacha kinyonga mbali.

~ Mbweha:alichoka mapema na kuamua kupumzika kidogo akiamini kuwa kinyonga alikuwa mbali
- sana. Kinyonga naye- alijikaza bila kukata tamaa. Mbweha alipokuwa amelala, kinyonga alimpita

kwa utulivu. Hatlmaye kinyonga alifika mtoni. Mbweha ahpof ika na kumkuta kmyonga tayari amef' ka,

, allshangaa na ku;utla kupscfu kwake.

6. Mbweha ‘alifananisha kasi yake na:- , o : :
~ Amshale  B.upepo = - \‘C farasi - D.kinyonga ..
7. Neno ‘aliwadhihaki’ hmetumika katlka kffungu Neno ‘dhihaki’ hna maana gam? o
CASIfu BDharau S g CAmms o Dnga o
‘8. Maneno ‘Mdogo kama unyoya’ niyaainagani? . i
“A.Msemo . . B. Methah o . C. lstlan, - D. Tashbihi
| 9. : Baadhi ni sifa za kinyonga, lsrpokuwa:— | o . : S
A. mwenye bidii B. mwenye kiburi C.anabusara - D.nimvumilivu

10. Kwa nini mbweha aliamua kupumzika katukatl ya mblo'? ;
A. Alikuwa amechoka ' B. Alimtaka kmyonga ashmde
" .C. Alidhani kinyonga ahkuwa mbali sana D: Altkuwa amekata tamaa

i N| methali gani kati ya h:z: ambayo maeleza hah yambweha?

A. Aliye juu mngoje chini , B. Mchumia juani hulia kvvuhm
C. Polepole ndio mwendo ; " 'D. Mwenda pole hajikwai

2. Nikweli kusema Kuwa:-

A. Mbweha na k_i_nyoh’ga waliishi peke yao msituni
B. Mbweha aliibuka mshindi

-C. Mbweha ni mnyama mwenye majivuno p
D. Mashindano ‘ya kukimbia yalifanyika usiku -

13. Mbweha alikuwa na mtazamo upi kuhusu wanyama waliotembea taratibu?
* A. Aliwachukia ‘ -, B. Aliwaona wadogo
C. Alisema wana uzembe ' : D Aliwadharau na kujiona bora zaldl

14.  Wanyama waliishi wapi? - - ~ PR
A. Shambani B. Mtoni . C.Msituni D. Mlimani
15. Je, funzo kuu_la hadithi hii ni? - RV .
A. Tusiwe wazembe B. Klbun kina manufaa | :
C. Bidii ni muhlmu katlka kufanikiwa ila si klbun D Kutembea polepole hupelekea kushnda

PACEMAKER SERIES oz205 e | GREDIYASITA _ KISWAI{ILILUGHA"
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Somg kifungu kifuatacho kisha ujibu maswali 16 - 24, )

Mlima Kilimanjaro ni mlima mrefu zaidi barani Afrika. Una u;efu wa mita 5, 895 Mhma huu uko' ,
kaskazini mwa Tanzania, karibu na mpaka wa Kenya. Mlima thman}aro unajuhkana kwa kilele -
chake cha theluji hata ingawa unapatikana katika eneo la Kitropiki. Mlima huu pia una majina maarufu. -
ya vilele vyake. Kibo ndicho kilele kirefu zaidi na ni maarufu kwa watalii warraopenda. kupanda
~milima. Safari ya kupanda hadi kllelem inaweza kuchukua’ hadl siku saba kulingana na kasi ya
mpandaiji na hali ya hewa.

Kilimo pia‘hufanyika kwenye maeneo ya chini ya Mlima thmanjaro kwa vile ardhina mchangav
una rutuba. Mimea kama vile ndizi, kahawa na mahindi hustawi vizuri karibu na mlima huu. Mlima
“huu pia huwa chanzo muhimu cha majl saf kwa wakazi wa maeneo ya kanbu ambao wanategemea,

mito mayotmnka kutoka mlima huo.

16.  Mlima Kilimanjaro uko - wa Kenya B , :
A. kaskazini B. kusini . B 0 maghanbn : f D. mashankn ar

17.  Milima K:Ilman;aro ni maarufu kwa sababu gam kullngana na kifungu‘7
A. Uawavutia wataiu _ 4

B. Una theluji ' :
C. Kilele chake cha thelu;r na uko katlka eneo la kltl’Oplkl

o D. Uko kaskazlm mwa’ Tanzanla

g

18. Ni kwa nini wakaz: wa karibu wanategemea Mhma Kmmanjaro kwa majl'?

A. Mlima huu hutoa mvua nyingi : B. Kuna mito inayotiririka kutoka mhma huo
C. Hakuna maiji kwingine D. Mlima huwa na maiji kwenye kilele -
19.  Safari ya kupanda “Mlima Kmmanjaro" huweza kuwachukua watalii muda- gam?
A. Wiki mbili : B. Siku saba
C. Siku tano - D Slku hutegemea mpandajl
20. Kataka neno Mhma Knllmanjaro heérufi za kwanza zlnaandlkwa kwa herufi kubwa kWa mnl'?
A. Ni mlima mrefu , B. Ni nomino dhahania - ,
- C. Ni nomino ya pekee R ' D. Nl nomma ya kawaida

- 21. ' Mimea kama ndizi hukuzwa katika maeneo ya chini ya Mlima Kmmanjaro Wakuhma waklvuna

ndizi nyingi watauza:-
A tita la ndizi B. chane ya ndizs - C. klcha cha nduzl - D. furushl landlzl o

22. Kwa nini Mhma thman}aro ni klvutlo klkuu cha watalii kullngana na kifungu?

i A. Kwa sababu kuna wanyama wengi B. Una mito mingi
C. Ni mlima mrefu zaidi Afrika na una theluji  D. Kwa sababu uko katibu na bahan

23.  Nikweli kusema
A. Hali ya hewa huathiri kasu ya kupanda mllma
B. Maji kutoka Mlima Kilimanjaro ni machafu -
C. Mlima Kilimanjaro huwa na manufaa ya kuwavutia watalu pekee
D. Miima- Kmmanjaro m mrefu zaidi duniani nzima -

24. Kilele kirefu zaidi cha Mllma thmanjaro hLutwa L
A. Kibo ’ B. Shlra S C. Meru

’ Jazé’gengo ukitumia majibu sahihi

_Katika dunia ya sasa 25 imekuwa muhimu katika maisha ya kila siku ya
binadgmu. Vifaa kama rununu na 26__ , vimebadilisha jinsi tunavyowasiliana
27 tunavyofanya kazi na kupata habari. Wanafunzi wanaweza kutumia kompyuta
kuandika ripoti na hata kushiriki kwenye 28__ kwa njia ya mtandao Simu
29 _ mkononi zimewezesha mawasiliarioya 30 ‘ .31 - _imeleta
manufaa makubwa. pia ina changamoto zake. Baadhi ya watu 32 _ vijana, hutumia
33 ___mwingi kwenye 34 ya kijamii 36 _____ = -~ kujihusisha na
masomo na shughuli za maendeleo. o - LT Ny NI
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039,

25.
26.
- 27.
28.

29.

30.
31
33.

34,
35.

36.

37

'38.

40.
T,
E-]

42.

A teknologta E

B. teknolojia C. tecnolojia D. kuzungumza

-A. compyuta B. kalamu C. kompyuta ~ D. komputa

A . v B.. C.:~ ' ~ D.na

A.masomo B. ukulima _ C. kazi .- D. hapari

Alla B.ya C.za : D. cha

A. haraka - ~ B. polepole C.taratbu ~ ~ D. pole

A Na - B.Pia = C.Mathalan .  D.Ingawa

A. ilhali B. hususan C.na - D.ila -

A.mda . B. muda .’C hali D. nyakati

A. mtandao B viwanda C. maarifa D. mitandao

A.na B. baadaya - C.'badala ya D. zaidiya

_Jibu maswali yafyatayo kwa kufuata maagizo 36 - 50. R

" Ni neno lipi kati ya haya ambalo hah;aandlkwa visahihi? ‘ ‘

A Chaja B. Juga ' C. Kadi -D. Ganda

Nyumba saf ini hii. Nl neno lipi ambalo-ni kivumishi cha sifa katlka sentenso hlyo?

A Saf B. Nyumba C. Ni D Hii L

Tumia kirejeshi -amba- mavyofaa Kuta ' ZImebomoka ni zao AR O -
~A.ambalo B.ambao - - C. ambazo -+ D.ambayo ‘
" Chagua neno ambalo liko katlka ngeli ya KI-VI RIS E R

A Kiwavi B. K:pepeo : C. Nyumba ' - D. Chandarua

Kisawe cha mama ni? o . -
- A.Baba - B. Nina .C. Mtoto D. Mwana D o
* Kamilisha maagano yafuatayd. Alamsiki , ;

A. Alamsiki - B.Binuru . . .G, Buriani: ‘

Kamilisha sentensn mlaia 0. kwa kummia kiulizi ummf&ka :

. -WaqafunZi pata chanjo ya korona? - '

CAlpi _B. yupl : _ C. wapi: D.yapi .

insha ya wasifu huwa na sehemu zifuatazo isipokuwa : L

‘A. anwani B. utangulizi C. mwili D. hitimisho

Geuza kitenzi ‘andika’ katika kauli ya kutendea - ’; o :

A. andikea B. andikiwa C. andikxana D. andikia L

" 45.

46.
47.

48.

w49,

" 50.

A Yai - B.Miango C. Dmsha
- Andika kinyume cha kitenzi : Meza ' R
- A kiti- B dawaﬂ P e C mezua D.tema -

A Malezi ya wazazi wale yanafaa
-C. Ulezi wa wazazi hawa yanafaa

‘Ukubwa wa nomino ‘mlango’ ni:

Kamilisha kwa kutumla nomino ya makun;li -
Nilimsaidia mama kubeba- ] "’f(um kutoka msituni
A. mzigo: B. furushi T . C.tita ‘ -

Mafuta , maziwa na mép ni m:f’ano ya nomino za ;- SR
A. kawalda B. zisizohesabika C. dhahama -

Tegua kitendawili klfuatacho Nyumba yangu haina’ mlang 'k

Andlka wmgl wa sentensi lfuatayo Ulez: wa mzazi huyu unafaa .
'B. Malezi ya wazazi hawa yanafaa
D. Ulezi wa mzazi huyu unafaa -

A. kilango 'B. kimlango C. Iango D ‘malango

- PACEMAKER SERIES 002 2025 ‘

'GREDIYASITA KISWAHILI LUGHA =



KENYA PRIMARY SCHOOL EDUCATION ASSESSMENT (K’PSEA“)

MONITORIN G LEARNERS PROGRESS - .
~ GRADE SIX - TERM 1 YEAR 202‘“’*’

SCIENCE & TECHNOLOGY Time: "fHR 40 min

1.

2.

Grade 6 learners.from Baraka Newlite
Academy were asked by their Science
and Technology teacher to list down

- different types of ﬂowenng plants ‘Who did
X ‘not give the correct answer‘? ,

A. Wavire - - Maize

. B. Chege - Algae
C. Moly - Pawpaw )
D. Jayden - Beans

. The diagram below shows a safety tool
- that was used by-the Grade 6 learners
. during their Science and Technology nature.

walk while holding plants and ammals

* The safety tools drawn above are used

" to protect the of the body
. Al Head B. Hands
"C. Eyes D. Ears
' Which one of the following is NOT an
~ internal parasite?
- A. Roundworms ~ B. Hookworms
'C. Tapeworm D. Ji‘ggérs

S.

R '\’Vrite:rw :

The following are parts of aseed. Whlch
one isNOT?
A. Testa
C. Stem

B. Embryo
D. Radicle

. Which one of the following lS not an
. example ofa word processor softwarc?

B. Open Office

D. Microsoft Word
: is the proces by wlncl;
sohd changes direct into liquid.
A. Sublimation B. Melting

A. Desktep

7.

10.

11

* The type of tooth drawn below v was

The type of fungl that is used by human
beings in the baking mdustry 18 known as
A. moulds = “*  B. mushroom

C. yeast D. Puffballs:' ,

by Jeremy who isa Grade 6 |

How many roots does the above tooth
have? ’ .
A. One B. Three C. Two D. Four .
The followmg are all the waterbome,
diseases. WhichoneisNOT? .-~
A. Typhoid B. Polio
C. Cholera D. Dysentry -
Grade 6 learners were discussing about the
parts of the digestive systems: Dﬁfing the
discussion they stated the part of the
that produced
; dxd thcy«,

digestive system
gastric juice. Which part
staté? o i
A. Inthemouth  B. Inthe ileum

C. Inthe pancrease D. In the stomach
The following are some of the common
water pollutants in the env1ronment Whlch

. oneis NOT?

s

A. S}awhterhouseswaqte .
B. Bummo chareoal
C. Dead;often plants

. D. Domuuc sewage

C. Freezing:.  D. Evapo'ration |




12,

13..

14'

18.

poll o v . smara

" C. limbs-
fre following are the functions of a
xdxaphragm in a human breathmg system.

State the meaning of the following coding

" sign.

A. Danger ahead.. B. Zebra cross
C..No entry D. No smoking
Which one of the following part of the
digital device is correctly matched with
its function?
Al Keyboard Controls and process

the programmes

B Cables Connects the device to its

~ hardware ;
C. Mouse - Types into the computer

D. Processor - Dlsplays what is gomg

on in the computer.

1 | The part of the human skeleton that protects‘ '
the brain is called

B. skull

A. ribcage ‘
~ D backbone

Which one is NOT?
A. Itcontrols the breathing

- .B.: It separates the chest from the

16v.

abdomen. _
C. Itreceives the air from the nose

D. It helps to fill the lungs with air

when breathing in. ‘
Grade 6 learners were asked to mention the
diseases that affects the human breathing

- - system., Which diseases did they not

- 17.

18,

C. Sublimation
- is used to find out whethera.

mention?
A. Malaria ’ B. Tuberculosis
C. Asthma D. Pneumonia
‘ is the process in which
the gas changes into a liquid.

B. Evaporation
D. Pollution

A. Condensation

substance is an acid or bas¢ in nature
A. Litmus paper ~ B. Tongue
C. Microscope D. Sugar paper

19.

20.

| 21.

22.
23,

24.
" the ki

25,

The dgram below shows some parts
of the human breathing system.

Amotdg the parts labelledd A, B,Cand.

D, which part represents trachea? = -
A.D B.CC.B DA

' means commg up with .
ways to stop producing waste.

A. Re-using B. Recycling

C. Reducing D. Repairing =

The following are the different types of

plants which one is NOT?
A. Tree B. Flower
- C. Hyg D. Grass

“Whic part of a plant is responsible for

makmg food for the plants?

A. leaves B, Stem C. Fruits D. Seeds
The following plants have got the fibrous
roots EXCEPT one.Which oneis it? .

A. Beans B. Maize C. Millet D. Wheat - ,
The bdst weather for Grade 6 learner to fly
below i is

A. calm weather B, sunny weather _
C. rainy weather D. windy weather
Grade 6 learners were asked by their

* Science and Technology teacher to come to
school with digital devices for

learning. Among the following learners,
who did not bring a digital dmce for

learning?
A. Melody - Broughta laptop
B. Kiki - Brought a smart watch

C. TérryAnn - Broughtancwspaper
D. Tom  -Broughtanlpad




’ KENYA PRIMARY SCHOOL EDUCATION ASSESSN{ENT (KPSEA)

MONITORING LEARNERS PROGRESS
GRADE SIX - YEAR 2025

AGRI-NUTRITION Time: 1HR 40 minutes

Grade 6 learner was asked by her
Agriculture & Nutrition teacher to state
three products that we can get from the
domestic animals. Which product d1d he not
. name?
A. Corn flour B. Milk
.C.. Cheese D. Meat
Which one of the following crops can
- not be established through direct sowing?
A. Maize B. Spinach

- C. Wheat D. Millet
. The diagram below shows a farm tool
a , used in the farm.

* What is the rain use of the above tools?
A. Prunning of the crops
B. For weed: g the crops
C. For spraying the crops
D. For watering crops in the farm
Which one of the following is NOT a

- climbing fruit?
A.Kiwi B. Passion
"+ C. Avocado D. Strawberry

‘The following are the factors that one should
consider when buying the shoes

for pre-teens / pre-adolescents. Which
one is not? ;

A. Comfortability

B. Size of the shoes

C. The month of the year

D. Colour of the shoes.

6.

10.

11.

12.

- A. Scurvy
- C. Malaria
‘What is the main cause of Goitre?

The following are some of the nutritional
disorders that a Grade 6 learner
can easily suffer from EXCEPT

one. Which is-it? |

B. Goitre

D. Rickets

A. Lack of vitamin D

B. Lack of vitamin C

C. Lack of iodine in the body
D. Lack of enough protein

" Dedan grows spinach in his kitchen -

garden. The spinach he grows is a

~source of .
A. Vitamins B. Carbohydrates
C. Proteins D. Fats and oils

A grade 5 learner from Lwak Primary
school had the following sign and
symptoms of nutritional deficiency
diseases; ‘

- Delayed crawling and walking

- Bow legs

- Weak muscles

The leaner was likely to be suffering
from

A. Goitre

C. Marasmus

B. Scurvy
D. Rickets

-Chemicals that are used to control weeds ‘

and herbs is called
A. Acaricides B. Herbicides

C. Pesticides D
Insecticides -
We eat the of tomatoes

A. fruitsB. roots C, leaves D. stems
is the process of removing

excess seedlings in the seedbed or

nurserybed to preszut overcrowding.




13.

14.

15.

16.

17.

18.

- C.. metals
- The following are different cooking methods

B. Thinning
D. prunning

A. Gapping
C. Weeding

The type of erosmn drawn in the dxagram LT

belaw is called

~A. Gulley erosion  B. Splash erosion

C. Sheet erosion D. Rill erosion
Fragile utensils can be made of the following
materials EXCEPT =~

A. glass B. earthernware

D. ceramic

that a Grade 6 learner can use
when cooking EXCEPT
A. boiling method

‘B ‘refrigeration method

C. baking method
D. shallow frying method
The following are the various uses of

~stitches on clothes. Which one is NOT? ‘

A. Joining two fabrics

B. Repairing torn areas

C. Decorating household garment

D. To make the garment new

The best type of fuel to use in the cookmg
tool below is? ' .

A. Gas B, Kerosene

C, Charcoesl D. Electricity

The BEST meth@d af GQQkiﬁg potato ehips
is '
A, stewing

C. deep frying

B, shallow frying
D. steaming

19.

| 20.

. ‘»y'"?"»i"'A Broom
~ C. Dustpan
21.

22.

23.

When preparing the ¢co

A. Acaricides
C. Pesticides
- ‘Which one of the following is not a cleaning

A. Carbohydrates

are the chemicals used to
coufrol the insects, -
B. Ferbicides
D. Antibiotics

item found at home?

: B. Jembe

D. Dustbin

The following are the needlcwork tools

- that can be uséd by Grade 6 learners

during the needlework lesson Which

“oneis NCT?

A. Needle B. Thimble,

C. Handkerchief = D. Tape measure

The following types of food can be cooked
through shallow frying EXCEPT. '
A. eggs B. sweet potatoes

C. chapati D. pancake

are the type. of food that
protect us from getting the diseases.

B. Proteins

D V1tamms

C. Mineral salts -

/W* ™

from Harambee Pf!mﬁmﬁghgﬂmwm

1aterials
question 24.

24,

23.

The materials labelled Q are likely to be
A. soil “ B. kitchen waste
C. dry grass D. Ashes

__is the process used In
Agucultule ofremoving unwanted and

- unproductive branches from the plants,

B. prunning
D. Hardening off

A. Gapping
C. Thinning

RS



3.. When you have chosen your answer, mark it on the ANSWER SHEET not in thxs question booklet
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GRADE SIX - TERM 1 YEAR 2025

SOCIAL ST UDIES & RELIGIOUS EDUCATION
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Time: 1HR 40 minutes

o 4 " e e
A L L it e P R ool

Beba area is
A. hotand dry _ B. cool and wet
C. coolanddry -~ D. hotand wet

Forest
Quarry
| Postofttice |
 Chief's Camp |
Road ﬁ
‘| Railway Line
I
3| School
: ’Oomo",
[ Settlement |
Shaal” '
,cr?
oNice STHoH
SCALEP 1 7 3 4 AT "%
‘1. Which is the main mode of transportused | 4. Which is the main econom:c acthty
' in Beba Area? carried outin Beba Area?
A, Air B. Water A. Trading B. Mmmg '
- C.Road D. Railway , C. farming ' D.-Tourism
2. The admunstraUW head of the Beba Area | S. Rlver Peru flows from ‘ _to
is likely to be ? : dlrectlon '
A. Senator . A. North’to’k'Sonth ,
. B. Chief B. North East to South West
C. Governor ; C. South East to North East
- D. County Commssxoncr ‘ D.:North West to South East
3.  The climate of the South Eastern part of | 6.

The people of Beba area are hkely to belong
to which rehgzon? f _
A. Islamic
C. Hindusim

Bl Chnst:amty

D. Traditionalism

o,

it U i SR s ity T SRR I L 2R



80

10.

ll.

The Mijikenda call their God

A. Nyasaye : “"B" Ngai

C. Enkai - D. Mulungu -

In Kenya we have

the government R

A. two . B, three

C. one ' D. six

A person who belongs to a particular
coun “isa :

A. pagan _ B. citizen

C. Sqautter D. refugee

All schools in Kenya are under the Ministry | |
of ‘ . o
A. Transrort

B. Labour = =

C. Edueanoxi Sc1ence and Technology

D. Mmlstry of Intenor Cordination

refers to the people’s way

'fof-l'ife‘;#
A. Tribalism - B Culture
C. Cemmamty 'D. Faxmly

12.

13,

14.

A. through trade

Grade 6 learners we::e asked by their Social

Stuches teacher to state the members of the

school Adm:mstranon, among the

followmg leamers, who gave the correct

answer? .

A. Mllka Headteacher, watchman, Semor
, teacher

B. Jelly Headteacher, Deputy Headteacher A
| 20

Semor teacher
C. Ken Headteach:er, Teacher, Cooks

D. Tim- Headteach..l Deputy Headteacher 1

~ and ground’s man -

The country that boarders Kienya to thei? | .

North West is likely to be -
A. Ethiopia - B. Tanzania |
C. Uganda D. South Sudan

Kenya can mamtam good relationship with
her neighbours through the followmg ways '

] 22

EXCEPT

' through games and sports

'C. throug use of common languages :

D through boarder dlsputes

18,

15.

Arnasof & )

Grade 6 learners were chseusSmg aboutthe
elements of weather Whlch element did

they net dxscuss SR
" A.Rivers . ‘B. Ramfall
- C. Wind D Temperature

16.

19.

21.

Lo C. Vegetables
17,
"~ people belongs to the. plain Nzlotes only

| C. Klkuyu, Ma:sax, Jemps

o) CoatofAnns " D. The Church

‘C 25 years ©“D.'3 years ’

Which country in Eastem Afnca has 2
 capitalat Asmara? L

A. Etlnopla B. E‘ntrea

C. Rwanda "D Somaha

C. 'Oceans_ T

The following are the types Of crops grown |

 through horticulture. thch one is NOT 7

B Frults
D Ce,tea.ls
thch one of. the follewmg group of o

A, Flowers

A. Luo, Iteso, Giriama * * A" R
B. Maasax, ’Purkana, Samburu’ |

B :{endllle Pokomo; Sambum

~. InKenya inland fishmg can be practxced m ot
the following areas EXCEPT e

B dams 4
:M@ D oceans

A. rivers
C. ponds

L ,The fouowlng are the NatloRal symbOIS of,,: 1 PR

unity. Which ¢ onels NOT? ‘ MM,
A. National Flag  B.. The Pubhc Seal

In Kenya general eleenons a:e“helgl;afft;er}

every e T e e ¢
- B. 10years

Wlnch one of the followmg is NOT a rehef

- feature in Eastem Afnea?
A. Valleys B Plateau

“D. Plams, )

FORMATETE S Do o




The diagram below wes drawn by a Grade 6

learner during the discussion of Social Studies.

Use the diagram to answer questions 23 - 24,

"Upthrust Force i
#“ompressional Compressiona!
= Ferce. .. = 0 Force

23. What were the learners d1scussmg about‘7
A. The formation of Rift Valley
“B. . The formauon of black mountain
C. The formation of salty water lakes
D. The formation of lava dammedlakes ..

24.  The other name given to the formanon, of

- the above feature is called
~ A. volcanic mountain Sgeee A
- B. horstmountam L :

C. craterfake’ =~

D. Rift Valley

25,  Serengeti, Lotikipi and Bilesha have gotone |

thing in common. Which one s it?
. A. They are all block mountains
N B They-are all volcanic mountams .
C. They are all seasonal rivers .
D. They are all Pplains

SEC’I‘ION II C.R.E

26. God created everythmg for .
. A. being dlsobcchent |
B. a purpose
C. being unfmthful . :
D. making the world look good

7. How long did the creation took placev ST

~A. 6days " B. 7 days
C. 3days~* 'D. 10days
8.  The brother of Joseph the dreamer was
A. Isaac - B. Benjamin
C. Esau - D. Moses.

29.

31.

; D Hatred

; When God appeared to: Moscs at Mt Sm ai,
God was: lﬁform of ‘
ik B e o

D. spmt/‘%"

A. rain
C. clouds

" The folIowmg are the effects} of ja chzld
h"/(labour WhlchoncstOT?

., B Itratscs sclfges,m R

C. It lowers seif csteem

~~~~~

“Grade 6 learncrs were dxscussnng thc ﬁrst
five books of the Old Testament Which e’lae ,
of the fouowmg i
A G’ene.sxs
: B. Exodus .
i C Acmmpemw
D: Lepitions "
32 i ' wésﬁ}ipstr;uctegﬂ,;yacoa
to‘buildanark. s S
. A. Abraham
« - C. Moses . g TNITy :
33. . The first disciples to be called andfollow
JesusworkedasV AR e
‘A farmers es
C. fishermen ' ‘D, teachers
34. __was the son of Noah;who‘
: f”saw his father’s nakech;ess‘ | ’
A. Shem “ il BysHam
C Japheth - oeDgCain
35.  Grade 6 learnérs' were’ ‘asked by thelr“
‘ t;eachcr to state the values that were taught :
~by John the Baptxst Whlch'vall' ‘ dxd ‘ey“*_
. notstate?. .
~A Honesty
B. Kindness-

sqe o

C. Responsibilities -

AR

g,

|
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36.

37.

- 38.

39.

40,

26.

27.

28.

Grade 6 learners were asked by their C.R.E
teacher to state the fruifs of the Holy Spirit.

Who did not state the correct fruit?

A. Musay - Peace

B. Kiptoo - Joy

C. Naserian - Performmg miracles"
D. Cheptoo - Self control

From the Bible, we lean that where you go

I wili >0, your people will be my people

These words were said by . ‘
A. Sarah - B. Naomj
C. Mary - D. Ruth

Who among the following disciples did not |

witness the resurrection of Christ?
A. John . B. Judas Iscariot
C. Peter L D, James -

The followmg are quahtles of agood fnend ,

EXCEPT one. Which one is it?

A. Caring B. Jelous

C. Loving D. Respectful
'The beginning of a new life in Chnsuamty
ismarkedby

A. Baptism

B. Birth

C. Holy Commumon
D. Clrcumczszon ‘

‘Bathing before attcndmg Juma prayers is

compulsory for

A.Men

B. Children

C.Women

D. The aged

Which of the following p:llars of Salaat is
EXEMPTED for the cnppled Mushms?
A. Qiyam

B. Julus :

C. Takbzraﬁd Ihraam ’

D. Taslim ' ’
Which one of the followmgxs a ntual of

‘Umrah?

A. Stoning jamat
. Visiting Arafat _ ‘
C. Performing twawaf

29. Which one of the following form of fast

30.

31.

was dome by Manam bunt Imram

- immediatety after ngmg birth to Issa? N ”

A. Fast of foods
B. Fast of speech
C. Fast of drinks

:D Fast ofmcat , ~
“One of the followmg statements is wrong o
~ about UMRAH. Which oneisit?

A. Can be performed durmg Hajj

B. ItlsiesserHa_U | o~
" C. The performer muststay atArafaa ST |

D. Can be combined with the main Ha_u
D. Offering a sacrifice
Which battle had the fewest numbcr of |

- Muslims in the army who emerged~»

i v1ctor10usly" ,

32,

33.

34,

3s.

A-Badr’ B Uhud
C. Khandak D. K’haybar o

“Which one is true on Swalarul Kusuf’

‘A. Ithas no two rukuus

* B.Ithas two rakaas

C.Itis said just like any Sunnah prayers
D. Itis said for the eclipse of the moon
Who among thcse is not a rec1p1ent of

~Zakaat?
A.Fil-Rigab  B. Al-Masakm
C. Ibu-Sabil D. AI-Yatzm

The place of worship that is correctly
matchedxs R
A.Shrine - Christikansy S

B.Church - Muslims
C. Mosque - Pagéns ‘
D.Temple -  Hindus =
“Lam Yaquml Lladhma Kararun
................... ”is a beginning verse of surah
A. Bayyina | B. Zilzﬁaﬂylan N
C.Kaafirun  D.Qadar .




